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<try
= <td>
<p>Dollar US &#x0024</p>
Ff/ </td>
<td>
J <p>1,17000</p> *
</td>
<td>
<p><button id="boutonD" onclick="Conversion('D")">Convertir</button></p>
</td>
</tr>
<tr>
<td>
<p>Livre Sterling &#x@0a3</p>
=~ </td> :
T <td>
<p>0,86000</p>
</td>
——- <td>
W <p><button id="boutonL" onclick="Conversion('L"')">Convertir</button></p>
</td>
</Er>
<tr>
<td>
<p>Yen &#x00a5</p>
= </td>
i | <td>
<p>128,43000</p>
</td>
<td>
<p><button id="boutonY" onclick="Conversion('Y"')">Convertir</button></p>
</td>
</tr>
— function Conversion(button) {
let entree = Number(document.getElementById("valeurE").value);
— if (button==='D’){
let valeurD=arrondi(entree*1.17);
document.getElementById("boutonD").innerHTML = valeurD;
}
if (button==='L"'){
let valeurL=arrondi(entree*0.86);
document.getElementById("boutonL").innerHTML = valeurL;
. }
if (button==="Y"){
r/> let valeurY=arrondi(entree*128.43);
D document.getElementById("boutonY").innerHTML = valeurY;
}
}
~
&





